abs(log(param)) abs(log(param))

abs(log(param))

-3.74

-3.80

-10.28

-10.36

-2.98

-3.04

Q.1-0.011

! ! ! ! !
6.900 6.902 6.904 6.906 6.908

log(iter)

Q.3-1.0
degenerate

! ! ! ! !
6.900 6.902 6.904 6.906 6.908

log(iter)

Q.5 1.1e-10

! ! ! ! !
6.900 6.902 6.904 6.906 6.908

log(iter)

abs(log(param)) abs(log(param))

abs(log(param))

-8.42

-8.48

-10.08

-10.16

-4.18

-4.24

Q.2-13
degenerate

! ! ! ! !
6.900 6.902 6.904 6.906 6.908

log(iter)

Q.4-1.0
degenerate

! ! ! ! !
6.900 6.902 6.904 6.906 6.908

log(iter)

R.10.012

! ! ! ! !
6.900 6.902 6.904 6.906 6.908

log(iter)



